Regression test

Test run started 2025-08-27T01:35:02Z
Ashes version: 3.32.0

PID Controller Generator

Load case set 1

Load case Time series Error score
Default Power (electrical) 0.000000
Torque 0.000000
Torque on main shaft 0.000000
Torque diff. on main shaft 0.000000
RPM 0.000000
Filtered RPM 0.000000
Electricity production 0.000000
Region 0.000000
SetpOi nt Power (electrical) 0.000000
Torque 0.000000
Torque on main shaft 0.000000
Torque diff. on main shaft 0.000000
RPM 0.000000
Filtered RPM 0.000000
Electricity production 0.000000
Region 0.000000
KP Power (electrical) 0.000000
Torque 0.000000
Torque on main shaft 0.000000
Torque diff. on main shaft 0.000000
RPM 0.000000
Filtered RPM 0.000000
Electricity production 0.000000
Region 0.000000
KI Power (electrical) 0.000000
Torque 0.000000
Torque on main shaft 0.000000
Torque diff. on main shaft 0.000000
RPM 0.000000
Filtered RPM 0.000000
Electricity production 0.000000
Region 0.000000
KD Power (electrical) 0.000000




Torque 0.000000
Torque on main shaft 0.000000
Torque diff. on main shaft 0.000000
RPM 0.000000
Filtered RPM 0.000000
Electricity production 0.000000
Region 0.000000
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Load case: Setpoint

Generator
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Load case: KP

Generator
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Load case: Kl
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[k'w]

[Nm]

Power (electrical)

5000

4000 |
3000 -

2000

1000 [

Today

Last checkpoint

40000

30000

20000

10000

10

20 30 40 50
Time [s]

Torque

Today

Last checkpoint

10

20 30 40 50
Time [s]

11



[k Nm]

[k Nm]

[rpm]

Torque on main shaft

4000
3000
2000
1000
0
S S S S S S SRS B S R S
0 10 20 30 40 50 60
Time [s]
Torque diff. on main shaft
2000 |- .
1500 [ 1
1000 [ -
500 | -
of ]
-500 [ -
-1000 |- -
R P [ P . [ - A . P I P P | P P |
0 10 20 30 40 50 60
Time [s]
RPM
1100
1050
1000
e e S S H S B O It
0 10 20 30 40 50 60
Time [s]

Today

Last checkpoint

Today

Last checkpoint

Today

Last checkpoint

12



[rpm]

[k Wh]

1100

1050

1000

950

50

30

20

10

Filtered RPM

Today

Last checkpoint

20 30 40 50
Time [s]

Electricity production

20 30 40 50
Time [s]

Region

o

Time [s]

60

] Today

] Last checkpoint
60

] Today

] Last checkpoint
60

13



Load case: KD

Generator
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